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g7 | 2% | Fm2
gora | =R Yoy =R Yoy Y orey Yoy Yoy
Loy | 4HY | 1Y
2a(ng) |235.06 | 285.06 | 149.7 | 1255 163.4 164.2 145.6
#2(mg) | 3.93 | 5.24 | 56 4.3 3.5 7.7 7.0

oW = A £10%, THI= BrEkE(55-65%) 1 A (7-20%) ¢ A HH(15~30%)
* 1gd AUA| (keal)= ©3ba 4, @0 4, AW 9kcal = &4F
* 7 W AT 429N T2d7A Y dIFF iy
* AR A4
D 2w, F, A ARgshs /A7 R (R = R, v, v 3 Aas 33
2) WiF wiEA, Aol WA, BRHAA, WFHATIEE SolAESh= ]
3) AZ7HF wFA A, o], BAAA, wiFHATEE ol ARSShs LXTHE
4) F/F7veE FHF, FHA, FEgel ARgske I3V E
5 WH: FH, 5o & gk e A9
% 2023.7.1.5%8 25~29%1 F7H TAMAFAY A FE L A3xE)

AN

i

* AP 27 AR
01. 57, 02.9%, 03.94, 04.%F, 05. %, 06.92, 07.32%50°], 08.4], 09.A %, 10.=:)Xa17], 11. 850}, 12. EnlE | 13,0}
AR, 14.35%, 15.9317], 16,237, 17.94], 18. ZMF(ZF, AE, Z3F ¥3}), 19.3
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